
2/-+)'%#!D#/AA?/-=+; !?9 #/-6/4#?#%19?1 '.- #?/

%#%)9?*/ (-&/?9/-=+; *D+ 2/-+!%+%;/!/+9$"$9/!/+C

nmlkigkec `?=lg;97 6O=NecM=l `LmKJO;G7 6O=NecMle Fuligc=ls7 regmeOk= qeKpk=l7

FOulkec o=p=lO=7 /=g=l o=cckc.7 6O=NecM=l `gl=kLm=l7 negm=lkc= Bul.melg7 Jül.=c BuLk7

6gge BeMkk7 Luki M= Oe Fu=cg=7 EOkiep=gge /eluMk7 qeck=O Tmk=K=lg7 Elec GeO7

MkLme=Oe Ruc=c7 `g=fec ZecM=l

9Gs6lp=kgip=l=kLm M=Mk=cpäMe.u.kk

Icigkgug fül BkOMuc.i?kii=ciLmefg

Uckv=likgäg Wk=c

`=ci=c.eii= 3e

6 1090 Wk=c

Lmlkigkec.i?=lg;@uckvk=.eL.eg

eO=NecM=l.iLmKu=O;@uckvk=.eL.eg

eO=NecMle.fuligc=l@uckvk=.eL.eg

B4$9-%@9> IK EU-F/ 7-/luj=kg „IrTUITEL“ ?klM =kc= Op=c `uulL= - El?=kg=luc.

fül =gepOk=lg= L=lcKece.=K=cgiyig=K= =cg?kLk=Og7 Mk= =kc 6uguKegkL EMuLegkuceO

R=eiuckc. kKpO=K=cgk=lg. IK vulOk=.=cM=c B=kgle. ?klM =kc T=ig M=l L=lcpfeM= M=i

IrTUITEL M=geMeg=ciyig=Ki MulLm Mk= MuM=OOk=luc. =kc=l VulO=iuc. vul.=ig=OOg.

qei M=geMeg=ciyig=K kuccg= p=kp=meOg=c ?=lM=c.

C (?+A/?9=+;

q=l B=kgle. p=lkLmg=g =lig= K=Mk=cMkMekgkiLm= El.=pckii= M=i EU-F/7-/luj=kgi

IrTUITEL (Icg=OOk.=cg Tugulkc. Icg=lfeL= ful T=LmcuOu.y EcmecL=M L=elckc.7

mggp://???.kcgukg=O.=u). qei Zk=O vuc IrTUITEL kig =i7 vulmecM=c= LM` (;.B. MuuMO=7

IOkei) uK 6uguKegkL EMuLegkuceO R=eiuckc. (6ER) ;u =l?=kg=lc. qe;u iuOO=c peik=l=cM

euf =kc=l 6ceOyi= M=i V=lmeOg=ci vuc L=lc=cM=c MulLm 6O.ulkgmK=c ucM =kc=l MkMekgk-

iLm=c Typkik=luc. vuc L=lcKeg=lkeO MulLm L=ml=cM= EKpf=mOuc.=c p=l=Lmc=g ?=lM=c.

Ekc B=l=kLm7 euf M=c ikLm Mk= p=l=Lmc=g=c EKpf=mOuc.=c p=;k=m=c iuOO=c7 ikcM Mk= L=ml-

ucM L=lcpfeM= kcc=lmeOp =kc=i Kuli=i. 6Oi L=mlpfeM= ?=lM=c Mk= MulLm L=ml=cM= ec.=-

O=.g= revk.egkucii=qu=c;=c p=;=kLmc=g7 eOi L=lcpfeM= Mk= MulLm L=lc=cM= .=?ämOg= re-

vk.egkuc. B=l=Lm=cpel= EKpf=mOuc.=c p=;ü.OkLm M=l L=lcpfeM= kcc=lmeOp =kc=i Kuli=i

kJcc=c ikLm euf Mk= WemO M=i L=lcpfeM=i7 M=c W=Lmi=O M=i L=lcpfeM=i7 M=c cäLmig=c

`Lmlkgg euf M=K L=lcpfeM ucM Mk= El;=u.uc. =kc=i kcMkvkMueOkik=lg=c L=lcpfeMi p=;k=-

m=c. `uOLm= B=l=Lmcuc.=c i=g;=c vuleui7 Meii L=ml=cM= IcmeOg= iu eufp=l=kg=c ucM gypk-

ik=l=c7 Meii v=liLmk=M=c= L=lcpfeM= =lKJ.OkLmg ?=lM=c. Zu.O=kLm Küii=c Mk= /feM= ep-

iglekg KuM=OOk=lg ?=lM=c7 uK Mk= Vuleuii=g;uc.=c fül Mk= V=l?=cMuc. =kc=l R=eiuckc.

1 Tm= l=i=elLm O=eMkc. gu gm=i= l=iuOgi mei l=L=kv=M fucMkc. fluK gm= Eulup=ec Uckuc'i `=v=cgm

FleK=?ulk /lu.leKK= (F/7/j007-j013) ucM=l .lecg e.l==K=cg c° 318496.
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Ec.kc= ;u iLmeff=c7 Mk= vulm=l ckLmg .=pOecg= L=lcpfeM= v=lelp=kg=c kecc. qei kig =lful-

M=lOkLm7 Me Mk= Tägk.k=kg M=i Ucg=llkLmg=ci ckLmg gm=ul=gkiLm M=g=lKkck=lg ?=lM=c kecc

[o=08]. Fül Mk= IKpO=K=cgk=luc. ?klM kc IrTUITEL =kc= kc OWL KuM=OOk=lg= V=likuc

M=i M=geMeg=ciyig=Ki iu?k= M=i M=geMeg=cvukepuOeli M=l W=pMkMekgkk [M=06] v=l?=c-

M=g. qep=k ig=mg ckLmg Mk= uKfeii=cM= Typkik=luc. vuc IcmeOg=c kK VulM=l.lucM7 iucM=lc

Mk= R=eOkik=lpelk=kg M=i 6ER.

< :/98D#/

UK Mei M=geMeg=ciyig=K ;u g=ig=c7 kig =i kc =kc=K =lig=c `Lmlkgg =lfulM=lOkLm ;u

ucg=liuLm=c7 up Kkg M=K M=geMeg=ciyig=K Mk= `eLmOu.kk vuc IcmeOg=c iu?k= vuc

L=ml=cM=c .=pOecg= L=lcKuM=OO= iu gypkik=lg ?=lM=c kJcc=c7 Meii v=liLmk=M=c=

L=lcpfeM= =lKJ.OkLmg ?=lM=c. qep=k ikcM ucg=liLmk=MOkLm= Wkii=ciMuKäc=c

(`guffMkMekgkk/`eLm=) ucM v=liLmk=M=c= L=lcK=gmuM=c (L=lcMkMekgkk/M=gmuM=) ;u

p=lüLkikLmgk.=c7 ?=cc Mei 6ER - `yig=K kc v=liLmk=M=c=c Kucg=Ng=c =kci=g;pel i=kc

iuOO. Ic IrTUITEL ?=lM=c Mem=l K=ml=l= Wkii=ciMuKäc=c (6OO.=K=kc= qkMekgkk7

ReMelpkOMeceOyi=7 =gL.) ucM L=lcK=gmuM=c (GuuM /leLgkL= MuOgk `ge.= L=elckc.7

`gluLgul=M Icqukly Bei=M L=elckc.7 =gL.) ucg=liuLmg. Ic M=K mk=l vulOk=.=cM=c B=kgle.

?klM eOi M=gmuM= Mk= MuM=OOk=luc. M=l ieLmOu.kiLm=c `glukgul =kc=l VulO=iuc. ;ul

Ekcfümluc. kc Mk= 6OO.=K=kc= qkMekgkk (1j5 `gucM=c L=lc;=kg) Kkg M=c p=kM=c

.=ceccg=c L=lcK=gmuM=c v=l?=cM=g. qk= VulO=iuc. ?ulM= pkim=l eOi

/läi=c;O=mlv=lecigeOguc. MulLm.=fümlg. OcOkc= ?ulM= cul M=l Zu.lkff euf T=Ng=7

6uf;=kLmcuc.=c M=l Vulglä.= iu?k= =kc =kcfeLm=i FuluK ec.=pug=c.

3 (-;/4+?$$/

IK M=geMeg=ciyig=K fül IrTUITEL ?=lM=c7 peik=l=cM euf M=l W=pMkMekgkk7 Ml=k KOei-

i=c ucg=liLmk=M=c7 Mk= Mk= fuO.=cM=c Ek.=ciLmefg=c (kulikv) mep=c: (1) Kcu?O=M.= qu-

Kekc (=Kuli): 1/-+)')%#! 1/-+9%+87-%'9/65! (j) nucL=pg nucgekc=l (=Tm=Ke): 47%32!)0.

,'+'%-)% *%#2)'(6%6 ucM (3)

Kcu?O=M.= Opj=Lg (=BkOMiLmklK-

i=kg=7 M.m. =g?e 3-10 Mkcug=c .=-

pOecg= L=lc;=kg): W'++%6+2-)!

&%$'%6)0,! 5%,#26)% "%-6;%')! )0.

,'+'%-)% *%#2)'(6%6: Kcu?O=M.=

quKekci (Kq) =cgmeOg=c Mep=k

nucL=pg nucgekc=l (nn) ucM

nucL=pg nucgekc=l =cgmeOg=c

Kcu?O=M.= Opj=Lgi (KO)7 ?up=k

=kc nucL=pg nucgekc=l kc v=l-

iLmk=M=c=c Kcu?O=M.= quKekci

ucM =kc Kcu?O=M.= Opj=Lg kc

v=liLmk=M=c=c nucL=pg nucgek-

c=lc =cgmeOg=c i=kc kecc. L=lcpfeM= ?=lM=c ;?kiLm=c M=c nucL=pg nucgekc=lc7 M=c Wki-

L=ml=cM= L=lc=cM= M=gmuM=c

nuK=ckui nuK=ckui

(L=ml=cM=)

nuK=ckui

(L=lc=cM=)

nuK=ckui

(M=gmuM=c)

o=lpelg o=lpelg

(L=ml=cM=)

o=lpelg

(L=lc=cM=)

o=lpelg

(M=gmuM=c)

KOefkk KOefkk

(L=ml=cM=)

KOefkk

(L=lc=cM=)

KOefkk

(M=gmuM=c)

Tep=OO= 1: `glukgulk=luc.i?=lk;=u.
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i=cielg=c ucM M=c M=Mk=cgyp=c KuM=OOk=lg. Fül Mei 6ER ?klM MeKkg ckLmg vuleui.=i=g;g7

Meii =i p=igkKKg= L=lcpfeM= .kpg7 iucM=lc cul7 Meii =i K=ml=l= L=lcpfeM= .kpg.

qei G=pk=g M=l 6OO.=K=kc=c qkMekgkk (Kcu?O=M.= quKekc) kecc cuc7 ?k= Mk= K=kig=c

G=pk=g=7 ieLmOu.kiLm ucg=liLmk=MOkLm kOeiikfk;k=lg ucM eOiu vuc M=l `eLm= m=l v=liLmk=M=c

ucg=llkLmg=g ?=lM=c. Z?=k KJ.OkLm= KOeiikfkkegkuc=c ikcM Mk= ieLmOu.kiLm= KOeiikfkkegk-

uc =cgOec. vuc /lupO=Kf=OM=lc (L=ml=cM=7 L=lc=cM=7 M=gmuM=c7 =gL.) ucM Mk= LmlucuOu-

.kiLm= KOeiikfkkegkuc =cgOec. vuc /=liuc=c (nuK=ckui7 o=lpelg7 KOefkk =gL.). J=M= KOei-

ikfkkegkuc fümlg ;u =kc=K L=lcpfeM. B=kM= KOeiikfkkegkuc=c kJcc=c ;uM=K vul?älgi ucM

lüLk?älgi kc Mk= L=lc;=kg ep.=pkOM=g ?=lM=c. qeKkg ikcM p=k V=l?=cMuc. M=l .=ceccg=c

KOeiikfkkegkuc=c eOiu vk=l L=lcpfeM= euf M=l Ep=c= M=l nucL=pg nucgekc=l KJ.OkLm.

qe Mei M=geMeg=ciyig=K fül IrTUITEL cul vulik=mg7 Meii =i /feM= .kpg7 ep=l k=kc= p=-

igkKKg=c /feM= vuliLml=kpg7 ?el =i ;ucäLmig =lfulM=lOkLm7 Mk= kK M=geMeg=cvukepuOel

M=l W=pMkMekgkk p=l=kgi vul.=i=m=c=c R=Oegkuc=c „LmlucuOu.kiLm vul“7 „LmlucuOu.kiLm

ceLm“7 „ieLmOu.kiLm vul“ ucM „ieLmOu.kiLm ceLm“ eOi R=Oegkucigyp=c ec;uO=.=c. 6c-

iLmOk=ß=cM ?ulM=c Mk= nucL=pg nucgekc=l kcigecgkk=lg ucM Kkg M=c R=Oegkuc=c v=lkcüpfg.

qe W=Lmi=O ;?kiLm=c L=lcpfeM=c ?äml=cM M=i L=lcv=lOeufi euf Mk=i=l Ep=c= cul KJ.-

OkLm ikcM7 ?=cc nucL=pg nucgekc=l ;u.O=kLm kc K=ml=l=c L=lcpfeM=c vulkuKK=c7 ?ulM=

v=liuLmg7 KJ.OkLmig vk=O= nucL=pg nucgekc=l kc eOO=c vk=l L=lcpfeM=c ;u pOeg;k=l=c. Ekc=

MJ.OkLmk=kg Mefül kig Mk= V=l?=cMuc. =kc=l Tep=OO= eOi `glukgulk=luc.i?=lk;=u.. J=M=

Z=OO= kc M=l mk=l Mel.=ig=OOg=c Tep=OO= (Tep. 1) =cgiplkLmg =kc=K nucL=pg nucgekc=l. q=l

ieLmOu.kiLm= /feM =cgig=mg MulLm =kc ipeOg=c?=ki=i qulLmOeuf=c M=l Tep=OO=7 M=l Lmlucu-

Ou.kiLm= /feM MulLm =kc ;=kO=c?=ki=i qulLmOeuf=c M=l Tep=OO=. qeKkg =l.kpg ikLm ;.B. eOi

/feM fül „ieLmOu.kiLm vul“ L=ml=cM= → nu-

K=ckui (L=ml=cM=) → o=lpelg (L=ml=cM=);

fül „LmlucuOu.kiLm vul“ nuK=ckui → nu-

K=ckui (L=ml=cM=) → nuK=ckui (L=lc=cM=)

=gL. q=l vuOOigäcMk.= Kuli =cgmäOg 103 nuc-

L=pg nucgekc=l.

6ciLmOk=ß=cM ?ulM=c fül j=M=c nucL=pg

nucgekc=l Mk= p=kM=c M=gmuM=c M=i Icqukly

Bei=M L=elckc. (IBL) ucM M=i MuOgk `ge.=

L=elckc. (M`L) KuM=OOk=lg. M`L ucM IBL

?ulM=c kucgleigk=l=cM= .=?ämOg: M`L .=-

mJlg ;ul Gegguc. M=i Meig=ly L=elckc. ucM

=cgiplkLmg M=K kK M=ugiLmipleLmk.=c ReuK

v=lpl=kg=g=c FlucgeOucg=llkLmg; IBL .=mJlg

;ul Gegguc. M=i nucigluLgkvkig L=elckc.. qk=

IcmeOg= ?ulM=c kc =kc= MuuMO= - IcigeOOegkuc

=kc.=.=p=c (6ppkOMuc. 1)7 Me IrTUITEL u.e. fül MuuMO= =cg?kLk=Og ?klM. Fül Mk= Mu-

M=OOk=luc. Kuiig= ;ucäLmig Mei Wkii=celg=cvukepuOel M=l W=pMkMekgkk eui Ml=k GlücM=c

=l.äc;g ?=lM=c: Elig=ci ?el=c =kck.= `Lmlkgg= M=i IBL7 =g?e Mk= FuliLmuc.iK=gmuM=c-

?emO7 ckLmg eOi kcg=lekgkv= Wkii=cielg=c vul.=i=m=c. Z?=kg=ci KeLmg= M=l 6ufpeu vuc

MuuMO= =kc= 6cpeiiuc. M=l Wkii=cielg=c =lfulM=lOkLm. `u =cM=g =g?e Mei M`L gm=ul=-

gkiLm Kkg ;?=k `Lmlkgg=c: M=K `g=OO=c =kc=l 6uf.ep= ucM M=K Ekcl=kLm=c =kc=l 6cg?ulg.

6ppkOMuc. 1: MuuMO= Kuli
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B=kM= `Lmlkgg= Küii=c kc MuuMO= ep=l plekgkiLm kc =kc=K Kcu?O=M.= Opj=Lg Mel.=ig=OOg

?=lM=c. qlkgg=ci Kuiig=c Mk= R=Oegkucigyp=c fül IBL ucM M`L kK VukepuOel ec.=O=.g

?=lM=c. Ic Mk=i=c FäOO=c kJcc=c Mk= /feM= cul vul?älgi ikccvuOO MulLmOeuf=c ?=lM=c. qe

fül p=kM= /feM= j=?=kOi 11 Kcu?O=M.= Opj=Lgi =lfulM=lOkLm ikcM7 p=ig=m=c Mk= 103 nuc-

L=pg nucgekc=l M=l Kcu?O=M.= quKekc kci.=ieKg eui 1133 Kcu?O=M.= Opj=Lgi.

4 D?$1=$$?D+

IK ucg=liuLmg=c FeOO ?el Mk= MuM=OOk=luc. vuc 4 * j = 8 v=liLmk=M=c=c L=lcpfeM=c kc

=kc=l Kcu?O=M.= quKekc7 Mk= kc 103 nucL=pg nucgekc=lc ucM 1133 Kcu?O=M.= Opj=Lgi

Mel.=ig=OOg ?klM7 Kkg M=K M=geMeg=ciyig=K KJ.OkLm. qei M=geMeg=ciyig=K kuccg= Kkg

M=l mk=l vul.=ig=OOg=c =lig=c T=igK=gmuM= ckLmg feOikfk;k=lg ?=lM=c ucM ?ulM= eOiu

p=kp=meOg=c. 6Oi cäLmig=l `Lmlkgg ?klM MeKkg Mk= Ecg?kLkOuc. =kc=l R=eiuckc. Ec.kc=7

Kkg M=l Mk= ec.=igl=pg=c EKpf=mOuc.=c p=;ü.OkLm M=l L=lcpfeM= p=l=Lmc=g ?=lM=c

kJcc=c7 euiikLmgil=kLm.

6cmecM M=i T=igi M=i M=geMeg=ciyig=K ?ulM=c Kkg M=K Zk=O M=l Ecg?kLkOuc. M=l

R=eiuckc. Ec.kc= o=leuifulM=luc.=c fül Mk= ?=kg=l= FuliLmuc. ikLmgpel: Mkg okOf= M=i

M=geMeg=ciyig=Ki ucM M=i M=geMeg=cvukepuOeli kecc =i =lKJ.OkLmg ?=lM=c7 Meii

L=lc=cM= M=c L=lcpfeM Kkgg=c kK Kuli ?=Lmi=Oc. qefül .kpg =i kc M=l pkim=lk.=c

FuliLmuc. k=kc= B=kipk=O=. Iciuf=lc p=ig=mg mk=l =kc= p=iucM=l= o=leuifulM=luc. kK

B=l=kLm M=l qkMekgkk ucM M=l i=KecgkiLm=c MuM=OOk=luc. M=l .=pOecg=c

Icf=l=c;KeiLmkc=. qep=k ig=OOg ckLmg cul Mk= B=lüLkikLmgk.uc. =kc=i MulLm L=lc=cM=

vul.=cuKK=c=c W=Lmi=O M=i L=lcpfeM=i7 iucM=lc euLm Mk= Fle.=7 ?ecc =kc iuOLm=l

W=Lmi=O =KpfumO=c ?=lM=c iuOOg=7 =kc= p=iucM=l= o=leuifulM=luc. Mel.

2?9/-%9=-*/-z/?@8+?$

[M=06] M=M=l7 r.: W=p-qkMekgkk. Ekc= c=u= qkMekgkk ?=ppeik=lg=c7 v=lc=g;g=c L=lc=ci. B=l-

g=OiKecc: Bk=O=f=OM7 j006.

[o=41] o=lpelg7 J. F.: UKlkii päMe.u.kiLm=l VulO=iuc.=c. j.7 v=lK=mlg= 6ui.ep= 1841.

GJggkc.=c.
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